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12.

()

. 10 ( millisecond )

(A) 1077 (B) 107
(A) (B)
(A) (B)

RGB
(A) R=255 G=0 B=0
(C) R=0 G=0 B=0
(A) (B)

()

(A) (B)

BASIC X = 14 MOD 342
(A) 1 B)4

(A) CH++

©)

( binary search )

(A) O(1)

(C) O(n)

(A) (B)
(A) (B)
(A) ( bridge )

©) ( repeater )

( nanosecond )

(C) 10 (D) 10’
©) (D)
©) (D)
(B) R=0 G=0 B=255
(D) R=255 G=255 B=255
©) (D)
©) (D)

€ )

X
(C)5 (D) 16
(B) Java
(D)
n

(B) O(logn)
(D) O(n%)
(®) (D)

( SQL, Structured Query Language )

©) (D)
(B) ( gateway )
(D) ( router )



13. (12341234

(A) (BC4FF2) 6 (B) (CC4FF2) 6

(57047762)s (24682468)

(C) (1789FE4) 16 (D) (2789FE4) 16

14. (‘associative law )

(A)X+Y =Y+X
B)X+Y=X"-Y

O X+H(Y Z)=(X+Y) (X+2)
(D) (X+Y)+Z=X+(Y+Z)

15. ( public key encryption )
(A) (B)
© (D)
16. Microsoft Excel ( )C2..G2 B3..B7 C3..G7
C3 C3..G7 C3
(A)=B3*C2 (B)5$B3*%C$2 (C) #/B§3*$C2 (D)=§B$3*$CS$2
A CEND) D b &F —x G H
1
2 R 2 | L3 ] 4 5|
3 | L LA ] 2 3 4 5
4 2 2 4 6 3 10
5 3 B 6 9 12 15
6 —~l1 | ¢\ 8 v |16 2
7 5 “A\ 10 570 N0 2
H%ﬂ'(: y 8
17. 5 8000 (Hz)
16 (bit) (byte)
(A) 40,000 (B) 80,000 (C) 640,000 (D) 1,280,000
18.
(A) JPG (B) MPEG (C)NTSC (D) PAL
19.
()
()
()
()
A)1 (B) 2 ©)3 (D)4
20.
(A) Blog (B) Video on demand
(C) Wii (D) Wikipedia

(

)



21.

22.

23.

24.

25.

26.

27.

28.

()

BASIC (*)
Z=0
ForI=-5To 5
ForJ=-5To5
IfI=Z0rJ=ZO0r1=J0OrI=-J Then Print "*"; Else Print " ";
Next J
Print
Next I
(A) 37 (B) 40 (©)41 (D) 44
A A(3To20,-5To 10,2 To 15) A(3,-5,2)
A(4,-5,2) A(5,6,7)
(A) 1464 (B) 1465 (C) 1640 (D) 1641
(A) O(n’) (B) O(n’ logn)
(©) 022" (D) O(n!)
( prefix ) XNt w4, %, 1,2, 6,)5
( height )
(A)3 By4 (C)> (D) 6
( depthAirst-search )
(A) B) (9) (D)
() (edge) (weight)
( minimum cost spanning tree )
(A)9 (B)-14 © 25 (D) 21
HE)
(A) Data mining (B) OLTP (C) POS (D) Warehousing
(A)
(B)
©)
(D)



29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

(

( entity -relationship diagram )

( attribute )
(A) (B)

tablel (tuple)
tablel

Insert Into tablel Select * From tablel
(A)O B)5

ADSL
(A) ADSL
(B) ADSL
(C) ADSL
(D) ADSL

(A) DHCP Server (B) DNS

HTML (tag)
(A)a (B) link
(A) 168.93.4.2.1 1P
(C) FTP
(A) SSL (B) POP3
(A) CRM (B) DSS
(A) — —
©) — —

( DFD, data flow diagram )

(A) ( data flow )
©) ( external entity )

B

©) (D)
tablel 5 SQL

(C) 10 (D)
(C) EFP Server (D) Proxy Server
©)p (D) ref
(B),186.93.5.256 IP
(D) TELNET
(C)SET (D) SPAM
(C) ERP (D) SCM
(B) — —
(D) — —

()
(B) ( data store )
(D) ( process )

)



()

39. f(A,B,C)=ABC+BC+ ABC f
(A) AB+AC

(B) AB+AC
(C) AB+AC
(D) AB+AC
40.
(A)
(B)
©)
(D)
41. F(4,2)
1 Hdm=0F m=n
F(n,m)= Hpm =0
F(n-1,m)+F(n-1,m-1) B3l
(A)5 (B) 6 ©7 (D)8
42. C pl2]
inti,x[5], *p;
for(i=0;1<5;i++)
x[1]=1+1;
p=x+1;
(A)2 (B)3 €4 D)5
43. Microsoft Visual Basic Call S1(2) X
Sub S1(ByVal X As Integer)
Call S2(X, X, X)
Print X
End Sub
Sub S2 (ByRef A As Integer, ByVal B As Integer, ByRef C As Integer)
A=A+1:B=B+2:C=A+B*C
End Sub
(A)7 (B) 15 (C) 18 (D) 23
44, BASIC (1*¥1+1*2)+(2*14+2*2+2*3)+(3*1+3*2+3*3+3%*4)
(1)
Total =0
ForI=1To3
ForJ=1To (1)
Total = Total +1*]J
Next J
Next I
Print Total
(A) 4 (B)4-1 ©]1 D)1+]1



45. Visual Basic
Dim A(3,3) As Integer

ForK=0To3
A(K,0)=1
A(0,K)=1
Next K
ForK=1To3
ForJ=1To3
AK,H)=A(K,J-1)+A(K-1,))
Next J
Next K
Print A(3,3)
(A)4 (B)6 (C) 10 (D) 20
46. () ( railroad switching network )
4 A, B, C, D
B
(A)3 (B) 4 (OF (D) 6
A,B,C,D
T
) D
47. AVL tree  B-tree
(A) ( binary tree ) (B)
©) B-tree (D) AVL tree
48. ( branch factor ) 1 12 2
26
(A) 38 (B) 63 (C) 64 (D) 65
49.
SQL
(A) Select Avg( ) From Group By
(B) Select Sum ( ) From Average By
(C) Select Avg ( ) From Group By

(D) Select Sum ( ) From Average By



50.

(

(A) 4

)

(

)

(

)

(

)

( natural join )

(C)7

(D) 9




